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) Gu‘vev\ two }-eo[ nMMLeL-;, we- 3&15 a hew ml namlﬂn
Ex 2.71. —2-1=-5

WQ. LVLOW 'Four oBeraﬁans (’h -, X +) on Rﬂo, NumLeH’
Wo- Wi“ See 'Fva. ogyo&ions (+, -. X."_",%) on Funci'ions.

ofonn |
G‘(‘wn fure -Func:h‘m}l C,amPoS-ﬁon.

we 95{ o hew function,

Sum‘ Dl"l:’(rkence, P}'O‘J“Cf, omc] QUO'H@M: O'F Fu.nc_ﬁon::

G‘f\/evl 'Func{'iovu f aw;l (7/ filj (iu_ﬂ_) Ore

—

'_F_a_ ( P bJuc:.)
:‘;_T ( 1uofu’en:‘:J

hew Functions, ond they are daticed as ﬁ”mn: | munbe
(P~ teieges
(ﬂ) (x) = Ttx) -9(x)
(F5)() = +x) 9(x)

(-F-(-a)(x):'F(x){- (x): T rue. x
9 (5) (21 = () v 72

W Not Tl-uuz,




4= (2-(= 22.222-9=(p
$(3)= 43-1 = [2-1=1 )3[3) .

) Prock 1) We know thot

(—F +9)(x) = T 90x) § 41422 Hl +9)(3)= (Ftg)(3) 431423

= [2-(+41&

Ft9)3)= T ty) = 1 +18=2] = 11418
(-P-(j) (x) = tx)-9(x) < 41—% <29
) Preot2)
H:Z) (x) = -F(x)a(x) =(4%-1)- 3¢ P
. ('P_(j) (3):'F(3)-J(3)=||—l<?=-’),
MU
[ ) ( ) - a(x) ax? (_Fg) (3) = ..F[g).a(g)-;“.lgz 198

£ o 1
( g) (3) = @ 1
Wl/lat Can we Say oLout tLe c{omou'nj of 't;tefe New ‘Funcﬁans?

Domain of  T+3, T-3. ad T9 is DB D)

Dom\in ZF 'F T

Domqin ot 0

Domoin  of g (s @(f)(\%j—{ﬂe set of oll X such thot 3(1)=o].

a mu 'h‘ply) %1_ [zé o
G0 ea)x-) L 0 L0 _, 2x-120

[72x<||: D) 9% 2|
X ‘F(x)= |1—9c1 o,ul 3(x)=ﬁ)(—l Ixz_l. =,p(3)=[.21,w)
F+9)(x) = Fetgt0 = ,l: aJ_«Lj'_ Domoin = [-1, (1 [3,02) = [3-1]
I-Fm.se.”‘° Zotugr e ~Dwmtm4¢ml

(£-9)(%) = f0 -9t = [1-2* ~Ja2c-1, Domain= [-1, (] (1 [5,%0) = [£-1]
(-Fg)(x)=-F(x)g(x)—J'_—7\fi"_" Domain= [-1, ] [3,2) = [2-1]

( )(é)‘ -F Doman—[ l]—-{t [ | [
90 5“2&! 2 -V
3(1) \I-E;T'.‘-O:?xa-— Wzsl\m} (— |] ®» o3z

T 2
Ex 'P(x): Fx-1  §o=2x

) |-% 20

7

|




’P(K)=(polynoml'v~’) éﬁ ‘F(x)= x -2+ 4x -]
{Folrnnm‘a,

A[ae})mic 'F(AV\CHOW ! ‘FIX) = {O‘JQLM.C QXP}Q“M") E’i "P(x) . X+ 3

x-(

Polynomiol 'FMVI ction

C_Oﬂlfjof-’ﬁan of Fumcﬁon

G‘iven two Fanction 'P(X) and ﬂ_ 'l:Lte Compos.fe Tunction
t.1) (x) = f(£(0)

EI 3 Jz%mei oS 'Fo"ow; . ('F )(1) = 'F[glx)_)
(9of) (2¢) = 9(fe0)

}L H" )(x) = ! Fx = 4%~
f(fm) 4t - f(2)= 4-2-1, T(g)= 4-jeo-!

b [t Fa=4%-1 and 3(,%%1“, they
) (f9)x) = ’F(j(f))=4'3f’d o =+.(Ka;c’\4«:)~l=3x‘«:4-:

= g t+3
2) (gof)(x)= I(fm) = 9-F + 121 (ax-+ ‘fiml)ﬂ

__Wwe (-b)'= g 2ab b

3) (‘F“F)(") +(F00) = 4 Ftx) - - 4Ta) -1 = 20"~ bx 424

= (6x-4- = gax - [6243

ANS = [§x -S,
4.-) (g 3) (x) = (7({7(’0) 23(1)'6! = 2 (2x%u) €1 = 2 (43 4°0) £ = fx e lxas

(3-t)
j ) 1) @ 3(2) =@ e (QI”_Mthz =gx*egx3

_ ) g(x):?.?f'”
%rx) A 0= 4122423 9052 0.5%1 ~2.94(=0041= ( 9




Wlﬂﬁt Ca we S0y OLout tLe Aommin of -tlte CompoSite ‘FunC.ffon?

Domo\im ot @ i$

D(j): Mle set of ol x such that ‘F is unJean ot 9(x) 3

Lpoman o 3

r—; p(ﬂ) = [O, oo) - Ilo‘dm'ld = [O, oo)'
EX Le.'l: {[x) = 11_4- OnJ 9(1) = r:z Ex) 3 is in Dcﬂ)
T . = (9em*4
') DOMGfm o‘F 'F°3 7 ‘P(?(x)) =(J(7t}) -4 :(5)1_4-_-_3-4:_‘.
Wring preo® : ($o3)00) = F(gtx) = 36 - 4 = (%) 4 = 24 = Mw)
E_x('F-J)(-') ""'F(‘?(-I))’—' 'F(ﬁ) Dolis net in the domam !

['M & H’-o-l hu\w\Le;-

Correct fPoo‘F' D(a)= [°,°°,)'
We neel to exclade any points % in DG) such that
tis undetined ot g,
However, the damain of T is oll teol mumber :(-20_w)
IR o[wvs detined 9 there is mdﬁn" to exclude
Hence, the domoin o 'F‘a is [o, w)

Z)Domo\fn of go‘F ? Will do it on Sef-lq.



